
КОНТРОЛЬНАЯ РАБОТА  № 6  ПО ТЕМЕ  ,, Тригонометрические  уравнения и неравенства” 10 класс ( А-10-11) 
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                                          II  вариант 

 

1.     Докажите  тождество: 
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1.     Докажите  тождество: 
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2.    Вычислите: 
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2.    Вычислите: 
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3.    Решите   уравнения: 

                                       1)  0cos3sin2 2  xx     

                                       2)  2cossin3  xx  

                                       3)    0sin22sin 2  xx  

                        

 

3.    Решите   уравнения: 

                                       1)  02sin7cos2 2  xx     

                                       2)  2cossin  xx  

                                       3)  0cos22sin 2  xx  

                        

 

4.    Решите  неравенство: 
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4.    Решите  неравенство: 
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3sin x  

 
 


